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Unit 9: . . . .
Solving two linear equations by graphin
é\ Lesson 02 8 d y graphing

A system of equations is two or more equations. The two equations
that follow comprise a system of equations:

4x -3y =0
5x+ 7y =-3

A system of two linear equations can be solved by graphing them and
then observing where they intersect.

The (x, y) intersection point is the solution of the system.

Example 1: Solve this system by graphing: \ “:

y=-2x+2 .
y=x—4

x¥

(x, y) = (2, -2)

Example 2: Graphically find the intersection X ¢
point of this system: 7

y=2x—8
y=-x+1

x¥

(%, y) = (3, -2) ,
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Example 3: Solve this system: &
-3y—x=3
6y + 2x =—18
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m*:"—g, Mz = 3
parallel lines, no solution
Example 4: Solve for x and y from: L‘.’
X+4y=4; -2x—8y =—8
o —— =
K+ay=¢ -2>f—5’j-—~'5’ R
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...same equation . . .
two [ines on top of each other.
Infinitely many solutions along

the (ine.

www.bluepelicanmath.com

so, there are



Algl, Unit 9, Lesson02_absent-student, page 3

Assignment: Solve the following systems by graphing and finding the
intersection point.

1. y=4x—-3; y=-2x+9 X

a v3
2. 2x—y=1; 4x—2y=2 X

a v3
3. y=(1/2)x—-1; y=(1/2)x—-4 L‘.‘

a v3
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4. y=2x+6; y=-x—3 &

vl
5. 4x—3y=-6; 4x—-2y=0 &

vl
6. x—2y=8; 2x+y=1 &

vl
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